207112433E1

HUAEFRAZ e 85

Cabinet Heat Exchanger

B
.
(FOEERVNER D

User Manual

277 it 2228 P AT A 40 B e AR 7 i !

Read this manual carefully before installation and using!



B = Foreword

MEIA  Summary
T M BN RSS20 AR P A . 22k 3 LS 44 R AR
The manual describes cabinet heat exchanger instructions, declaration, product overview,

installation guide, maintenance and warranty.



A HiLF Change History

Version Change History Draft by Approved by Date
A pEidikd EE e H
A Created Rongjincheng 2019.9.19




H x Catalog

B 55 FOTBWOIM ...ttt ettt et ettt e et et e et e e te et e e beete e st e ebeeaeeeteebeensesteessentesteesseatesnsessesteensesseessesesseas i
ZEFHALTE CRANGE HISOY .. ....ovviieeeeeeeeeececece ettt ettt ettt ettt e s s e s e s s s et et et et et et et et et et eseseseseananans ii
1 AFEFZI INSIIUCHONS ...vevivivetitii ettt ettt ettt a s e bbb s s e et et b e e s s e s e st s e s st ese e s s erens 5
P i 1T - T Lo o SRS 6
3 FEEIHEIR PrOQUCE OVEIVIEW ......cviviiiieiiiictete ittt ettt b bbbt s et esese e nsenas 7
TR0 Y 22 Y o o] [T Ui o [PPSR 8

3.2 FE AL ProduCt NAMEPIALE ..........cveeeeiieeieeieieteeee ettt ettt ee et ese s seeeas 9

3.3 FEANEE T PrOCQUCE FEALUIES ....c.oviiiietieiic ettt ettt st ene s 9

3.4 TAEJREE WOrKING PrNCIPIE c..c.voviieieeiciicie ettt 10

3.5 XU HEHE Vs. N BB IR E 12k Fan Speed Vs. Inside Temperature CUIVe ...........ccooovevevevevevevevevennnes. 11

3.6 FE B ERE The COMPONENTS PIOTUCT ........cveveveieeeeieeeceeee ettt ettt sttt e et as 12

3.7 EHIHEE ] Control WIring didgrami...........cocoveveueeeieeieeeeeeeteee ettt 13

3.8 IBATIBHE OPEration l0GIC ......cveveeverieeieeeeeeeee ettt ettt s et s st se s s sesens 13

3.9 WEFE MONILOTING ...ttt ettt ettt ettt et et b e st et e b et esseseebeeaeebesteeteste st ensenseneanis 14

4 ZEEFRT INSTAllAtiON QUIE ... ..ciiiieieeeie ettt ettt st e esbe s re e ae s te e e e nreenaenbeeneenee e 15
4.1 B HE MaAching INSTAlAtION..............c.cviviveeeeeeeeeecececeee ettt 15

4.2 HSEHE EleCtrical INSAlAtION..............cvcviveveeeeeececececceeee ettt 15

4.2.1 F P2 R User Wiring reqUIrEMENT ..........cveviviieeeieceeeeeeeceeeeee et 16

4.2.2 FHRTEE Pre-operational CHECKS .......cociviieieiee et 17

5 PEEESFUTAR Maintenance and WAITANTY............c.c.oueevivereeeeeeeeeeeeeeeseeeeeseteseessseses s sessesssesesseseseseeeas 19
5.1 FEEHZEYT Product MaINtENANCE ...........cooviviveveveieteteteteteteteeeesee ettt aeas 19

5.1.1 #EFG T H Prepare t00IS ........ceovevieieeeieeeeeteeeeee ettt ettt ettt e st ae et n e n et n e s 19

5.1.2 HH 4P ROULINE MAINTENANCE ........c.vevevvivteveteieteeaeeeeeeeae ettt 19

5.1.3 EZL0F J77 Alarm handling Method .........oo.ovoieieiieicce e 21

5.1.4 HAthdilE o Hr 5403 Other fault analysis and treatment ...........cecceieeveeececce e 21

5.2 FEHAEMEHH Replacing of COMPONENES .......cccviiiiiiiiie ettt 22

5.2.1 WA sE e Py KBS How to replace the internal fan..............ccocceeveueeieueieeeceeceecee e 22

5.2.2 Hi{a] B e/ XU How to replace the external fan............cocovcveueeeveveeeeeeeeceeeeeeee e 23

5.2.3 {5 He £k B A How to replace the PCB-printed circuit Doard..............ccveveveveeevevevceennae. 23

5.3 55 ST FILENS SErvice and FEPAIN ......c.cveeeeieieieeeieeeee ettt es sttt 24

o I L = =Y ot P11 IR 25



1 fF R Z0H Instructions

o KRFMHEH T HUEAS K
This manual is for: cabinet heat exchanger
o A FHAHLAT I 5500 B LA I B
Be sure to read this manual before using the unit.
o U LHZ AT NAIE ) N A PAT A ] 5552 37 i 1R AR IR S5
Only when the user operate the unit in accordance with the user manual in warranty period

we can offer maintenance with free of charge.



2 7= B Declaration

RoHS Compliance Declaration of
Cabinet heat exchanger

European Guidelines 2011/65/EU (RoHS)

Legal regulation for Substances

Dear Sir/Madam,

Referring to the European guideline of 2011/65/EU, we confirmed that according to the
current status of our knowledge and in accordance with the regulations, we could produce
products complying with above mentioned guidelines especially for below type

Yours sincerely,

Engineering Department



3 FEEEiEIR Product Overview
KT A About this chapter

KB THRERZ AP kel TR, XIEW T, BT8R DL 5 8 g s b S
o T ARG TRAS T A SR E AT !

This chapter describes the cabinet heat exchanger application, product features, the working
principle, duct design, operation logic and alarm and fault processing of information. It is required

to strictly operate the unit according to this user manual.



3.1 N H] Application

fo Important

o %) b T B S MY e S I T et ) R RS el A AR AR A B
FHEIEBEH GESH D . F22 R SE TXHEHAE (EH TARR B AIRE) WlsEqT
MBI, DLORIEAR A BT AT mT DLIE S T, A Hom i TR RE .

The product is designed for communication or related industrial equipment applications and
design of high performance cabinet heat exchanger , Please use the AC and DC power
(Please refer to the nameplate) , The installation is the significance of the control cabinet
(normal work to a closed state ) of internal temperature control, To ensure that the cabinet all
thermal element can work normally, Play the best performance.

o [RUAEULEARIN & LA HABAT A 37 A T I s AR T 4005, 37 AR H BT

Any damage caused by any other applications outside of the application object described above,

Responsibility is not assumed.

@ Warning

o i Mrizslizimizy il iR, R, E 2 .

Transport: In the process of handling or transport of the product, do protect the product and do
not over impact.

o TFIN: ANEFERAF B -KIN A E Sl =i 3R T (70°C,95%) .

Store: Don't open storage, or stored for a long time at high temperature, high humidity
environment (70°C,95%).

o KHL: HAIFIAIAME A 1™ i, 15 55 3 B

Shutdown: If not using this product for a long time, please turn off the main power

@ Warning

o JUEEREAEN. B ARE O EAEAE M BRI SN A A S S AR N R AR

This appliance is not intended for use by persons (including children) with reduced physical,
sensory or mental capabilities, or lack of experience and knowledge, unless they have been
given supervision or instruction concerning use of the appliance by a person responsible for their

safety.



o Jy TG X, FRIREE 55 AL R — 2w B F R RURS A AR )

If the power supply cord is damaged, it must be replaced by the manufacturer, or service agency
or Safety certification in order to avoid a hazard.

o Jy T BUFHIEIA Y, ARG SR I . SR SRR A A, I,
SN IZ i B, BN S RO E & E RS

Don’t use the product under the condition of high oil, burning gas, explosive gas, strong

corrosively condition area. Otherwise the product warrantee service is not been offered by

manufacture.

3.2 P2 Product nameplate

| p=d Technical Data
] Air Cooling Solution
Rated Voltage Range: DC 48V (£20%)
Product Data Rated Current(max): 1.4A
] Rated Wattage: 60w
1 Product Type - ‘ ]
1 Heat Exchanger Specific Cooling Capacity: 30W/K
] VVeight: 8kg
Supplier Part Number/Version Temp. Range: 25~T0C
12433/ver. A IP Grade: IP55
[z [m]
CounterQ) 1
XXXXXXXXXXXX [w] s

Manufacturer: Suzhou Quick Thermal Control Technology Co., Itd.
Add: No. 75 jiangpu Road Suzhou Industrial Park Suzhou China
Tel: +86 512 65335116

3.3 P A Product features
o & TR Lt
Suitable for high temperature
o JHHLEAE

Self testing function

o IEHIHITIRE



Alarming output to monitoring system

o P UsfH

Easy maintenance

o SLWLREN. ME(F. R, WISLLZ E AR AR R B2 W T EE

Remote measuring, remote communication, remote control, which can realize can realize
multiple automatic protection and comprehensive self-testing function;

o ZHEMIIIAE. WAL ANLIH . RS485 11 (MODBUS-RTU #4Y) ;

Multiple self-protection design & visible monitoring interface, RS485 communication port

(MODBUS-RTU protocoal);

3.4 T{EJE¥ Working Principle

W2 Solar load
kFﬂﬂ#///

W heat dissipated through

plates / BA-FAH £ H#HE ELECTRONICS CARINET
[E\J ,L.Te: Return Air
7
Te: Exhaust Air S N W3 Heat dissipated through
B 54 4 cabinet / ALIE &
d
2 5 lier Al
Ta: Ambient Air - . oUppIer All
A -— @ H2E 5 33 F,
(41 Intern al ﬁfl“ﬂ‘—l
Heat transfer plates Heat Load.e T8
# A M

TAAZ e A 38 W FHAE XS 2 B DI iR, A 38 i T AR T B TH A 77 it o FAAC #2375 A R
FEREAT VAT, DR RR B — M EiE S A SR . & PR NS OB I R S B A L 4b
DB B0 o JRU 5 0P AR AL, 3 v [ s B SEBL A A%

Heat exchanger is mostly used for enclosed area cooling, HEX is designed especially for
mounting in a cabinet. The unit uses ambient air for temperature regulation so it must have

access to ambient. The internal temperature of the enclosure is cooled via effective utilization of

10



the ambient air. An air/air counter-current plate heat exchanger is used to transfer the heat. Two
centrifuge fans, one for the internal circuit and one for the external circuit provide ventilation.
FAAT A A% A1 XU P IR e 2 s 1 1, e T — > S B A B =T v 1

The heat exchanger module is designed in such a way that the speed of the external circuit fan is

controlled according to temperature, based on the pre-set pattern.

3.5 WU # Vs. N E i 28 Fan Speed Vs. Inside
Temperature Curve

Int. fan RPM
DA IR st e R

2000

800

>

Inside Temp. 4 &R

25 50

XU

Ext. fan RPM
A IR st TR

4600

1500

>

20 25 50 Inside Temp. P4 #536 &
A1 R

11



3.6 77 i E 4 The components product

N XL

Int.fan component

PR

Control board

iR
Cover plate

PR
Interface board component

S AL F

Ext.fan component

12



3.7 I B Control wiring diagram

[=aneed o o
¢ EEEEDE ¢ —
=
=
TR
ﬂ | )

FEM
® @

3.8 iz171& %% Operation logic
P tgs B, EAREH T AR, A BRI WA, B NERRAL B,
BRI R TP Ie bR, ) A R I AR s AT
Power on the switch, the product will perform a self-test running program firstly. If there is any
trouble during self-test, the alarm will be generated,the system according to the alarm fault code
to enter fault handling operation. If there is no trouble during the self-test, system will be normal
running automatically.
o HIi: Self-test
HEIIFEUR: The self-test procedure is as follows:
Az Aar I m] PR A% A
First: Detection of return air temperature sensor;
D KA XL
Second: Detection of internal fan;
F=2D KA AL
The Third: Detection of external fan;
RGN IEHE TARRES BTG R A P FRZS
The normal work state of the system includes the state of standby and heat transfer.
e f§HlizfT Standby mode
A 18] R P29 AR A5 WA AT 25 PR (CE TR BN ) - I AE e s B A HLIZ AR, i Rk iz
1T A XML
If the return air temperature meets the condition of the Standby mode (not need heating or heat
transfer), the heat exchanger runs into the standby operating state, At this point only the low

speed fan inside.

13



e Miiiz4T Heat exchange mode

5 0] XU B R e B AT 2 CHE IR & T AN WL SR TR D, I AASE e B 0k N Iz TR
SN P A R 2 AR A P i 2 ) AN [R) AT T s 47

If the return air temperature meets the condition of the heat exchanger ( cabinet inner
temperature is higher than the outer fan start temperature) , the heat exchanger runs into the

heat transfer state, At this point the fan will change speed according to the cabinet inner

temperature.
3.9 1i## Monitoring
P RIS s, R % RS485 #:01. IHELR) M LARIUE Z (5 5.
The unit can be monitored by software through RS485 port. Please consult to the manufacture for

more information.

14



4 7447 F Installation guide

4.1 #2523 Machine installation
IR, Installation steps:
1) IRFRIEC AR AMUSE, AT EBEE R, B RS TR ST

Removal of packaging box, check the package list and the machine is well.

2) SEFIRE, K ASCHAR R 4-1 BAELEL L
Installed the Heat exchanger on the cabinet use screw, as Figure4-1

3) ML LD )G, HRHRHIARE.
The mechanical part of installation is finished till now. please double check.
T T BRI T 23

Please follow the below diagram of installation

4-1 ‘#%# K%K Figure 4-1 Installation digram

A Important

HERMTG . B SR SRR R 65°C . WA I 95% IR I A F % i o
Don’t use this unit in high oil, burning gas, explosive gas, strong corrosively condition, the

ambient air must be under 65°C, and the humidity not higher than 95%.

4.2 H/5 %3 Electrical installation

15



- 12345678910

¥ 2/No %5 /Symbol € X /Definition fiii&/Description

1 0 LIt IR IE R/ Positive pole of DC Power /
2 -48V LI HLJE 1 % /Negative pole of DC Power /
3 PE HL YR b2k /Ground wire /

T AU A - T O /
4 NO Dry contact alarm output-NO

T AU B - 3/ /
5 COM Dry contact alarm output-COM

T AU A L - P o/ /
6 NC Dry contact alarm output-NC
7 /
8 /
9 RS485 - i# 73 0 /Communication interface /
10 RS485 + i 422 L1 /Communication interface /

4.2.1 A P$£E K User wiring requirement
PP BBCHLIR . YRR A K W 25 IS0 2 LA T A% 2K

16




The power, the power cable and the breaker should meet the following form, when they are

supplied by customer

WH I Item ZR /I Request
HLJ5//Power B HJRE // DC Power :48 VDC
Fi & Y [#l//Voltage range DC: 48V (£20%)

e BBGER MRS (RCD) ahE R AZ T 30mA.
Note: The installation of a residual current device (RCD) having a rated residual operating current
not exceeding 30mA is advisable.
4.2.2 FHEAME Pre-operational checks
IAAZ AR B 2 M B R e R, TR R IR A AR
After heat exchanger installation and the electrical connection are completed, please check the

following checkilist:

5 RR U]
Serial number Check items
1 IEALIEE] O K

Ensure the screw is fastening

P AMIEER R E XU BTG B 2 PR FELRS )
2 Ensure that there is enough space near the internal and external

of the air condition

MR VE I IR R, 5 (5 5 R SNE R IR

3 Power line to connect the right polarity

Alarm signal cables are connected correctly
M RES AR, EEERIER, FFEMiErER.,

4 Using a multimeter to check the supply voltage, power supply

voltage is normal, consistent with the requirements on the

nameplate.
T KB IEGINT I CIFZ PG WK IETIRA IR, FH 2

Note: the correct power type of the machine sees the nameplate on the machine surface. If the

power is not input correctly, the unit will be alarm

@ Warning

17




PAZ s LIS TR, HREREWRE . RS, WESLAIYIRRYR, RN AT R A
When the heat exchanger is running, if there is abnormal noise, vibration, please cut off power

immediately and notify the professionals to ins

18



- .

s

5

HH

]

e A% Maintenance and Warranty

5.1 /=4t Product maintenance
5.1.1 #E 4% 1. K Prepare tools

% 5-1 4E37 T H Table7-1 Maintenance Tools

J¥*5 Number T.H Tools
1 Ji F3& Multimeter
2 +-=F 4822 J] Phillips screwdriver
3 — 222 7] Slotted screwdriver
4 BT Socket spanner

5.1.2 H% 4E3" Routine maintenance

% 5-2 H# 43 Table5-2 Routine maintenance

e | BIILH Fose iy BRI
NUM ~hec Check methods Solution
items
1. KPS s fan N\ HJR o
Turn off the supply power
2. HFRighiEz, WHERH
N R IR A A I BE FASh IR, BT
HEZE%E | Pulled the power line , watch | FIFLAFSR R ML FIB L2 J)KGFA Bh IR 22 47
1| EE whether the line is loosening =%
Power 3. W2 J1¥rsh s ki 1 F () | If there is a power line looses, You should tie
line firm | p2os o2 R HEIABHILG . tightly power cable; with a screwdriver to the loose
Screw the screws on the power | SCITEW
cable terminals with a screwdriver,
watch whether the screw is
loosening
- N = ji 3“‘ e N S /T
g e g s, | BTG R, A A
b e T | % o A 7 7E I 3 %° WA IRARTE I AT RT3 DU AT 7L
2 FRIETE Use the multimeter to measure If ':he voltage is not within the normal range
Voltage heat exchanger input voltage to Pl 9 # th Vi di gl ’
Stability | watch whether the voltage is within ease turn off the power supply Immediately.
normal range. Power on heat exchanger until the supply
voltage within normal range.

19




e i PR 22 T 7 3 #4584 1) 2 2% 1R

& 57 A Sh T . 3 .
ey | 2 MEEAARINR. ATIAELR, Wi
Use scrowdriver to screw the

ﬁ,rcnr]tle)\//v screws and V\_/atch whether the If the screw is loosening, please tighten it.
screw is loosening
1. ARUERERESY, AREREINSEE, 1§
SLEPSRHT IR, FFERR TN L T 4ES
RGWr G EH L, BRI H | While self-testing, if there is abnormal noise,
RAPISAT | AT T IEHR, vibration, please cut off power immediately
Cooling | Power on the switch and watch | and notify the professionals to inspect.
whether the self-test is correct. 2. EREETERAEEE, RS B
AT REHE

If it is alarm while self-test, please process

o H# 4453 Routine maintenance steps

WA G TR 4E 4 —SE PRI (LR T 2 b g s LS B8R0 ) L RO 3A 88D, 75 S8 BA R T L

It is recommended to perform preventive maintenance on the unit twice a year (depends on the

location of the site and the nearby surroundings) and the following should be done:

1) KU ISATIN T XU AR & o P8 NAZES: HA BB, 75 WUk il 2% 2511 75 22 B 48
Listen to the fans while in operation. The sound should be constant and with very little fluctuation
otherwise the fans are out of balance and should be replaced.

2) KM HIAHARERL T L

Switch all the circuit breakers related to the climate unit off.

3) FrBrN. AP .

Remove the internal and external fan.

4) FHEM i M SR AR 2T 1 KU B

Clean the blades of both fans using a brush, compressed air and a vacuum cleaner.

5) fEHINEERI R M B R R SR G, RS I/ /T 0.5bar.

Clean the heat transfer core using a small brush, compressed air and a vacuum cleaner, the air
pressure should less than 0.5bar.

6) H UL o

Mount the fans back again.

7) BITRITIF. REGUIEAT 30 A, MElXUas LAAS[R] i 3 s e 2 15 IR

Switch the unit ON again. This will activate the internal test program that runs for about 30

seconds, testing the fans at various speeds.

8) 4.

20




Finish.

5.1.3 52 4b 3 Fvk Alarm handling method

Return air

temperature sensor

[F] R 2 A Jak i i b

# 5-3 #(l#%{5 5 Table 5-3 Alarm information
B A4 R R [ R RPS
Code Name Principle
[ Il P A 4

Process Method

WXL &

Internal fan alarm

Return air temperature sensor

is short circuit or open circuit

N XU SEANE IR 5 E A

A 2 ] Xl P A R 75 M o e

R

Check whether the return air

A AL

External fan alarm

Internal fan current is not within

BRI AN E 1 G Y

F 2 PN RUHILEZR AT P XUBIL PR3 2 2 75 P v B

3l

External fan current is not

R A1 RATLZR N AR IR 42 2

10 i v B
g
within normal range. Check Whether the external fan line is
5.1.4 HAhi# & Hr 5403 Other fault analysis and treatment
# 5-4 HAhi# % #7540 B Table5-4 other fault analysis and processing
HUREIRES JE A 73 #r kAR 7%
Fault state Analysis of the reasons Solutions
1. A, k.
SN S R e Check the power supply
p R AL . . o
RIRBIBR, AR W%”??;éﬁﬁ’ fAHAZ 1. {FHECHIE. and the electric circuit
it e _ Power failure or no power 2. WEHENYEE N Bk
Power on the switch ,the cabinet L -
. . 2. WA, #
temperature is too high but heat Machine fault Pl tact
exchanger is not working €ase contac
professional
maintenance.
1. AR R EE A Bl
1. HEWIRECERIROERE.
Bt . RIMFIEIZIT, HHE AR | The cabinet temperature greater
G IR
The machine is stopping suddenly ,and

the electric system is normal

than or equal to the cooling set

i

Setting start temperature
according to the needs
tomperature. 2. ST AL A
NERFY #
Other system fault Please contact
professional
maintenance.

21



5.2 FE A& #: Replacing of Components

NOTE: Make sure that all circuit breakers related to the climate unit are switched off before you
start.
vk AT RS A B G IE R BT A 2 Wit
5.2.1 Al 5 e Py XU How to replace the internal fan
Before you start make sure that you have the following available:
FE S e 2 AIE M AR A LU TR & 1 =]
v" M4 Phillips screwdriver b ]
T
v' M4 Socket spanner i 1
M4 BT i’
v Anew fan(insure the same type)
—NERIRE (AR R ) P 4
1. Unscrew the M4 screws on the cover, remove the cover;
AR EERET, K AR B

2. Unplug the internal fan connector, unscrew the M4 screws and the M4 nuts on the fan fixed

board, then remove the panel subassembly;
PP KU i1, s XUR A2 B PRI T RIRRBE, AR5 U LA 4 R

3. Disassemble the fan form the subassembly with M4 Phillips screwdriver;
K XU ARV 2R B4R B

4. Mount the new fan by following step1,2 and 3 in reverse order.

J2 8 1-3 HAH SOD TR 20T 1 XU
2-M4 25T .
2-M4 screws 5

2-M4 2R}
2-M4 nuts

.:'4 R
Ll:—l—ﬁ

22



5.2.2 WAl s 40 XU 5 How to replace the external fan
Before you start make sure that you have the following available:
FE S e 2 BTSRRI LU TR &
v' M4 Phillips screwdriver;

M4 3k iR 42 T )

4-M4 25T
4-M4 screws
\\'

v" A new fan (insure the same type)
—NETEI R (R RAR R A5

1. Unscrew the M4 screws on the cover, remove the cover;
R AR ERIRET, K AR B

2. Unplug the internal fan connector, unscrew the M4 screws on the fan fixed board, then remove

the panel subassembly;
PRBE N KU i1, S XU AR FRIRET, AR S XU AR R
3. Disassemble the fan from the subassembly with M4 Phillips screwdriver;
K XU AR LA B4R B
4. Mount the new fan by following stepl,2 and 3 in reverse order;
218 1-3 FRAH SD PR R 0 XU
5.2.3 fa] 5 4 £ 1A How to replace the PCB-printed circuit board
Before you start make sure that you have the following available:
TE B e 2 H AR LA T RS
v M3 & M4 Phillips screwdriver;
M3 & M4 +53kI842 7]

4-M3 24T
4-M3 screws

v" Anew circuit board (insure the same type)
—ANETII AR (R ORAE R B AL

1. Unscrew the M4 screws placed on the cover, then remove the panel;

R AR _EAIRET, R AR

2. Unplug the internal fan connector, unscrew the M4 screws and M4 nuts on the fan fixed board,

and then remove the subassembly;
PR P R i1, E B P XU AR B RRAT SRS KU AR
3. Unplug all the connectors on the circuit board and then remove the subassembly from the unit;

W T 2B AR _E T 11, AR AR AL PF IR s

23



4. Disassemble the circuit board from the subassembly with M3 Phillips screwdriver;
Yo 2 BEAR ML AR FR
5. Mount the new circuit board by following step1,2,3 and 4 in reverse order.

I 1-4 BOAH 5D R M2 B AR o

5.3 & J5 k&A1 4k Service and repair

e {121 Warranty period
PR 12 N H CAP= ST IR AT, Bl K 18 M H (A il & Bt H IR e ).
The product guarantee period is 12 months from product up-running time or Max. 18 month
from product delivery date.
® Jii iz Warranty coverage
A7 AERAEIIN,  PUJE T AR B B v T S B, A A RO R s s, B R
MBI IR fbn 5o (2t LA MR R RS R AN T R A I RV
During the warranty period, all belong to the product itself quality problems caused by fault,
the company will be free for you to repair; Household repair is required to provide the product
label. But by any of the following causes the failure does not belong to our warranty.
1) il RAER;
Out of the Warranty period
2) AREIRBL R S H) OIS MR ISR 5
Cannot provide the product label(the product label is on the nameplate);
3) WITFESH A B Iz AT, B HIARAE A U b E MG 22 07 s e . el
A P B
Because of the abnormal condition or environment ,or the instructions specified in the
inappropriate installation, maintenance or operation causes the fault;
4) A& IE BRI, B e T B A T R A R R
Not caused by equipment failure, caused by user’s other equipment or software.
5) FJ BAT S e mldfi e i AR ARG AR AR, B ARSI S5 B T AT
User changed or disassembles by theirself, or maintained by the person without authorization.
6) WK MR BKEEASATHUE A0 s A b

Caused by force major such as fires, earthquakes, floods and other damage to the fault.

24



51 /4 B Disclaim
A PRBA PR T TR 7™ it o 3R A1 AT g B A8 i AT A AT AT F R AN B A
The warranty is for the delivered products.

Irresponsible is for any loss that may be caused by equipment failure.

5.4 AN Reclaim

-

FIA T i A8 P SRR AN FEASE FH ™ S, B 20K A i B B IRAL B, 1B A4S M U N AT I
JE SR HR L 34T AR EE
At the end of the unit working life, the produce must not be disposed of as urban waste; it must be

taken to a special local authority differentiated waste collection centre or to a dealer providing this

service.

25



